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QUESTION 1

Which two actions will occur when a back-end server that is registered with a backend set is marked to drain
connections? (Choose two.) 

A. It disallows new connections to that backend server. 

B. It keeps the connections to that instance open and attempts to complete any in-flight requests. 

C. It redirects the requests to a user-defined error page. 

D. It immediately closes all existing connections to that instance. 

E. It forcibly closes all connections to that instance after a timeout period. 

Correct Answer: AB 

References: 

https://docs.cloud.oracle.com/iaas/Content/Balance/Reference/sessionpersistence.htm The Load 

Balancing service considers a server marked drain available for existing persisted sessions. New requests 

that are not part of an existing persisted session are not sent to that server. 

 

QUESTION 2

Which statement is true about cloning a volume? 

A. You need to detach a volume before cloning from it. 

B. A cloned volume is the same as a snapshot that has a dependency on the source volume. 

C. You can change the block volume size when cloning a volume. 

D. You can create a clone for a volume across regions. 

Correct Answer: C 

 

References: https://docs.cloud.oracle.com/iaas/Content/Block/Tasks/cloningavolume.htm?tocpath=Services%7C Block
%20Volume%7C_____14 

 

QUESTION 3

Which two are true for achieving High Availability on Oracle Cloud Infrastructure? (Choose two.) 

A. Store your database across multiple regions so that half of the data resides in one region and the other half resides in
another region. 
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B. Attach your block volume form Availability Domain 1 to a compute instance in Availability Domain 2 (and vice versa)
so that they are highly available. 

C. Configure your database to have Data Guard in another Availability Domain in Sync mode within a region. 

D. Store your database files on Object Storage so that they are available in all Availability Domains in all regions. 

E. Distribute your application servers across all Availability Domains within a region. 

Correct Answer: CE 

 

QUESTION 4

You have a shared file system between two web servers using File Storage Service (FSS) and you were tasked to
create a backup plan for this environment to protect the data placed into the shared file system. What is the
recommended approach to create this backup using FSS features? 

A. Implement a backup policy to execute a snapshot of the shared volume. 

B. Implement a backup policy to copy data from the shared volume to object storage. 

C. Compress the data that is in the shared volume and copy it into a different folder on the boot volume disk. 

D. Use the rsync tool to send data from the shared volume to a boot volume disk. 

E. Use the rsync tool to send data from the shared volume to a block volume. 

Correct Answer: A 

 

QUESTION 5

You want an Oracle Cloud Infrastructure (OCI) compute instance in your compartment to make API calls to 

other services within OCI without storing credentials in a configuration file. 

What do you need to do? 

A. Create a dynamic group with appropriate matching rules to include the instance, and reference this group in your IAM
policy statement 

B. Instances cannot access services outside their compartment 

C. VM instances are treated as users. Create a user, assign the user to that VM instance, and reference the instance in
your Identity and Access Management (IAM) policy statement 

D. By default, all VM instances are created with an instance principal. Reference this instance principal in your IAM
policy statement 

Correct Answer: A 
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